o 2804 AABC+ AB = ACY o] SRz eltt. BC = CD

o]il /B =66°Y W, /ACD 9] 27]&?

A

@® 10° @ 15° ® 18° @ 23° ® 25°



th2 1A - 0+ AABC 9] 94 o]t} LOAB = 10°, /OBC =
30°, /OAC 9] 27]=9

O 40° @ 45° @ 50° @ 55° ® 60°



i}

A7t 0] 1914 14747 57k 242 3 14749 Fol Sl gk ©
A7} 250 G o] B 71w, 24.9] o7} A4l Fo) 14 A9l
Sl

be

rr

@ 3 @ 4 ® 5 @ 6 ®7



N,

T
o
4 B B ol
W R R R
B =
N
BT T gy R
M
%Wﬂl?mﬁ
T o O I o)y
T
GOy

) TR o

Bl e
o ar b
e o M =
7;_.%%%%
o_mi_.,o o

TN T AT N

<

@ 500714 ® 400714

@D 625714

® 120714

@ 3207}H4]



A J, R, T 954 2,8 & YAR vfdsto] MAMSE WSl T
ek BE S g AN EE BT 9 2}

@ 15 7HA @ 24 7}A ® 60 7}H7]

@ 120 7HA] ® 240 7}#]



6. AT AQ Y AL 7tER ghE 4= Qs Al 2 9] A4 5210 o
300 o]otl A4=2] =2

@ 274 @ 374 @ 47 @ 571 ® 671



7. A, B, CAl Aol Z71RHIRIEE T 1, A, B, C 5 7 Aol &
o|d &&< F+5td?

NoJR N}
W =
[SCIR N



& AABCOIA x, y o] gt Aell= (st A
27

@D 3, 20 ® 3,225 @ 5,20
@ 5,225 O 4,25




A

@ 5cm @ 6cm ® 7cm @ 8cm ® 9cm



10. 0,1,2,3,49 27F 42 23] 5 7] 7REOl| A 2 -2 Hot T 22 9

o=2 4y
W48 WS gk, F A2 o] 47} 39] M5 SES 5

1 3
@1—6 ®Z @1—6 @g ®

| =



11.

7] o o5t o Eg ol H|7} & BHE°] 30 %, E8doll HI7t

D 6% @ 14% ® 21% @ 30% ® 60%



12. o3 1A AABC = o|5HAZ o]t
/ACD = /DCE, /ABD =2/DBC, /A =a ¥ W, /BDC 9] A7 &
a = YJERHH?

D
B C° E
o 5 o 5 o 5

5 5
15° + — 15° — —
@5+14a ® 15 ¢



13.




14. g TYoIH aABC 9 /A, £C ] 91219] o] 5EA]
sk, A O oA 2 el @A 9ol e A we

o, b= F A g2 A2?

® OD = OE = OF ® AADO = ACDO
® AAEO = AADO @ CD =CF

® AD = AE



15. 3 o)A 7 74x9] 527} A3 5 0] FHEo|A 3 S Bok A Ael el
H48 RER Gt o] uf, W] Aelof 30| ok F9] S

@ 3 7H4] @ 6 7H4] ® 12 714
@ 24 7+ ® 60 714



